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line’'s slope = 8
goes through (2,7)
equation?

(@) y —7=28(z—2)

(b)x —7=8(y —2)
(CO)y—8=7(x—2)

(d) none of the above
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line’'s slope = 8
goes through (2,7)
equation?

()e =74 8(y — 2)

(b)y=7+8(x — 2)

(QQy=8+7(x—2)

(d) none of the above
0% 0% 0% 0%

R Vv > ™

1 2 3 4 5 6 7 8 9 10 | 11 12 13114 |15 )16 |17 | 18 | 19 | 20
21 | 22 | 23 | 24 | 25 | 26 | 27 | 28 | 29 | 30 | 31 | 32 | 33 | 34 | 35 | 36 | 37 | 38 | 39 | 40

0of 5 Topic 0060 10 pts




tangent line to y = f(x) at (2,7)
y—7=8(x—2)
“linearization” of f(x) at x = 27

(a) 8

(b) 8(x — 2)

(c)7+8(x—2)

(d) none of the above
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f(M) =4, f(7)=-8
Linear approx. to f(z)
at x =77

()4 —-8(x—7)

(b) 7z — 8z + 4

(€) —8+4(z—7)

(d) none of the above
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Linear approx. to g(x)
at © = 27

(a) 5 —-3(zx—2)

(b) 222 + 52 — 3

() =3 4+ 5(z — 2)

(d) none of the above
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f(5)=-2, f/(5)=39
Linear approx. to f(z)
at xt =57

(a) 39 —2(x —5)

(b) =2 + 39(x — 5)

(c) 522 + 39z — 2

(d) none of the above
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g(9) = -3, ¢(9)=-8

Linear approx. to g(x)
at x = 97

(a) =3 —-8(z—9)

(b) -8 — 3(x —9)
(c) 922 — 8z — 3

(d) none of the above
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tangent line to y = f(x) at (2,7)
y—7=8(x—2)
“linearization” of f(x) at x = 27

(a) 8
(b) 7

(c) 8(z —2)

(d) none of the above
0% 0% 0% 0%
. =T RN
Correct answer: 74+ 8(x—2) |“.— . . .
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(a) True

T or

If fis cc down on I,
then f7 <0 on I.

(b)[False
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T or F:
f''poson (1,2), f'(2)=0, f' negon (2,3)
— f has a local max at 2

(a)|True

(b) False
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TorF: f:R—R |
f pos on (1,2),

f'(2) =0,

f' neg on (2,3)
— f has a global max at 2

(a) True
(b)[False
"0i IlOi
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(a)

(b) False

T or F:

True

f'(2) =0,

— f has a local max at 2

f7(2) <0
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max intervals of incr
for f, if f/(z) = 2?(xz —1)2/(x —2)3(z — 3)2.

f! 02 02 u3 U2
0 1 > 3
(a) [0, 00) NOTE:

f(2) and f(3)
DNE

(b)[1,00)
(€)[2,00)

(d) none of the above
0% 0% 0% 0%
. =N S AN
Correct: (2,3) and (3, o) |4 ==r==ruE=uus
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Newton’'s method formula
to solve 223 — 4z + 8 = 0.

633%—4
213 — 4xy + 8

(@) Bpq1 =20 —

622 — 4
b — o 4 %0
( )$n+1 Tn 243 — by + 8
2x3—4$n—|—8
(C) zpt1 =20 — ="
nt 62 — 4

(d) none of the above
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Newton’'s method

. for solving 2% 4+ x = 4:
e<tn 4+ x, — 4 — 77
_ Ly L1 — !
(a) n 2€2xn_|_1 n+1
2x
e + T
(b) Ln — ean_I_]_
2x
(& n+$n—4
C _
( )mn 6258”-'-1
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Newton’'s method formula
to solve z° + 23 = 4.

5 3
o + x
a — n T
( ) tntl Tn T 5:{}% -+ 3:13,,%
o Sxar 4 33:7%
(D) a1 =amt e s
5 3
x> + x
C — L mn T
( )xn_H n 5mﬁ+3x%

(d) none of the above

xy + x5 — 4 0% 0% 0% 0%
4 >
S5z + 3%
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Newton’'s method

f(zn) for solving f(:l’:) = 1:
(@) an = f'(zn) Tp41 = 7°
_ f'(zn)
() on = )

B [f(fcn)] —1
(C) zn £/ ()

(d) none of the above
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